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tandard sigmoidal transfer function and the weights/thresholds
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For the network from question 3 and training pattern ((1,0), (1,0)) (the input (1,0) is the

same as the desired outpu ) adjus h e wei gh wit h a = 0.6. The new weights wy; and - )
wpo of the hidden neuron will be CZI 4 | g O 4 O </\ ~‘ "4,{)
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For the network from question 3 and the training pattern [(1,0), (1, 0)], compute the new
weights of the output neuron 01 by means of relaxation with @« = 0.5 and 8 = 0.1

Vyberte jednu z nabizenych moznosti:
O Whe = 2.028

h,,,l = 1.972

O W, = 2.0341
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